#### **BID FORM MIDWAY BOULEVARD BRIDGE REHABILITATION (014073)** BID NO. 20250228

TO: Senior Division Manager - Purchasing

**Board of County Commissioners** Charlotte County Administration Center

18500 Murdock Circle

Port Charlotte, Florida 33948-1094

The undersigned, as bidder, does hereby declare that he has read the Request for Bids, Instructions to Bidders, General Provisions, Special Provisions, Technical Specifications & Conditions, Insurance, Safety & Health Requirements, Bid Form, Permits, Plans, Permit Fees, MOT Policy, and any other documentation for

#### **MIDWAY BOULEVARD BRIDGE REHABILITATION (014073)**

| DESCRIPTION AND BRIDGE NUMBER   | тс  | OTAL AMOUNT   |
|---|---|---|
| MIDWAY BOULEVARD BRIDGE REHABILITATION (014073)   | \$  | 983,435.5   |
| Completion Time: 120 calendar days from Notice to Proceed   |   |   |
| Notice Needed Prior to Commencement: 90 calendar days.  |   |   |
| Liquidated Damages \$1,690.00 per calendar day.   |   |   |
| Please indicate by ( $\sqrt{\ }$ ) that you have included the following documentation with your bid:  |   |   |
| ( ✓) License Requirement: FDOT Certification  |   |   |
| <b>NOTE:</b> In accordance with Florida Statues, Section 119.071(1)(b)2: Sealed bids, proposals, or repl pursuant to a competitive solicitation are exempt from s. 119.071(1)(b)2 and s. 24(a), Art. I of the St provided by Florida Statutes 255.0518, until such time as the agency provides notice of an intende after opening the bids, proposals, or final replies, whichever is earlier. Upon release of the intend obtain the quote results, you may do so by visiting our Website at <a href="http://purchasingbids.ch">http://purchasingbids.ch</a> "Purchasing Bids Online", document number 252284. No information regarding the submittal telephone. <b>OPTIONAL ELECTRONIC BID SUBMISSIONS:</b> If your firm would like to submit your bid of the submit to the subm | ate Consti<br>d decision<br>ed decisio<br><u>arlottecou</u><br>will be di | tution, except as or until 30 days on, if you wish to intyfl.gov/ under vulged over the |
| http://bit.ly/3TYAyKa and follow given instructions.  | electi of lice  | illy, piease visit  |
|   |   |   |

BRIDGE NO. 014073 MIDWAY BOULEVARD BRIDGE REHABILITATION (SUMMARY OF PAY ITEMS)

| ITEM NO.  | ITEM DESCRIPTION   | QTY   | UNIT  | UNIT PRICE      |    | EXTENDED PRICE |
|-----------|--|-------|-------|-----------------|----|----------------|
| TS-25     | AS-BUILT DRAWINGS  | 1     | LS    | \$<br>7,000.00  | \$ | 7,000.00       |
| 102-1     | MAINTENANCE OF TRAFFIC   | 1     | LS    | \$<br>63,000.00 | _  | 63,000.00      |
| 104-10-3  | SEDIMENT BARRIER   | 322   | LF    | \$<br>5.25      | _  | 1,690.50       |
| 104-11    | FLOATING TURBIDITY BARRIER   | 455   | LF    | \$<br>15.00     | _  | 6,825.00       |
| 110-1-1   | CLEARING AND GRUBBING  | 1     | LS    | \$<br>15,000.00 | _  | 15,000.00      |
| 110-4-10  | REMOVAL OF EXISTING CONCRETE   | 66    | SY    | \$<br>300.00    | _  | 19,800.00      |
| 120-6     | EMBANKMENT   | 1     | LS    | \$<br>15,500.00 |    | 15,500.00      |
| 327-70-1  | MILLING EXISTING ASPHALT PAVEMENT, VARIABLE DEPTH                                  | 1,234 | SY    | \$<br>25.50     |    | 31,467.00      |
| 331-2A    | ASPHALTIC CONCRETE TYPE S-I  | 135   | TN    | \$<br>325.00    | \$ | 43,875.00      |
| 331-2B    | ASPHALTIC CONCRETE TYPE S-III  | 101.8 | TN    | \$<br>325.00    | \$ | 33,085.00      |
| 339-1     | MISCELLANEOUS ASPHALT PAVEMENT   | 14.6  | TN    | \$<br>325.00    |    | 4,745.00       |
| 400-153   | NON SHRINK GROUT, F&I, MISCELLANEOUS-STRUCTURES REHAB                              | 563   | CF    | \$<br>28.00     |    | 15,764.00      |
| 403-100   | MICROSILICA FUME MORTAR SIDEWALK RESURFACING                                       | 32.9  | CF    | \$<br>632.00    | \$ | 20,792.80      |
| 411-1     | EPOXY MATERIAL FOR CRACK INJECTION-STRUCTURES REHAB                                | 1     | GA    | \$<br>500.00    |    | 500.00         |
| 411-2     | CRACKS INJECT & SEAL-STRUCTURES REHAB  | 4     | LF    | \$<br>1,000.00  | \$ | 4,000.00       |
| 457-1-22  | STANDARD INTEGRAL PILE JACKET, STRUCTURAL, 16.1 TO 30.0"                           | 21    | LF    | \$<br>3,150.00  | \$ | 66,150.00      |
| 458-1-21  | BRIDGE DECK EXPANSION JOINT, REHABILITATION, POURED JOINT WITH BACKER ROD          | 150   | LF    | \$<br>200.00    | \$ | 30,000.00      |
| 522-1     | CONCRETE SIDEWALK, 4" THICK  | 49    | SY    | \$<br>150.00    | \$ | 7,350.00       |
| 524-1-29  | CONCRETE DITCH PAVEMENT, 4", REINFORCED  | 26    | SY    | \$<br>210.00    | \$ | 5,460.00       |
| 527-2     | DETECTABLE WARNINGS  | 38    | SF    | \$<br>45.00     | \$ | 1,710.00       |
| 530-3-4   | RIPRAP, RUBBLE, F&I, DITCH LINING  | 16.2  | TN    | \$<br>450.00    | \$ | 7,290.00       |
| 530-4-6   | ARTICULATING CONCRETE BLOCK REVETMENT SYSTEM, THICKNESS 6"                         | 634   | SY    | \$<br>625.00    | \$ | 396,250.00     |
| 530-74    | BEDDING STONE  | 167.2 | TN    | \$<br>80.00     | \$ | 13,376.00      |
| 536-1-1   | GUARDRAIL-ROADWAY, GENERAL TL-3  | 407   | LF    | \$<br>36.00     | \$ | 14,652.00      |
| 536-8-122 | GUARDRAIL TRANSITION CONNECTION TO RIGID BARRIER, F&I-INDEX 536-002, APPROACH TL-3 | 2     | EA    | \$<br>4,800.00  | \$ | 9,600.00       |
| 536-8-123 | GUARDRAIL TRANSITION CONNECTION TO RIGID BARRIER, F&I-INDEX 536-002, TRAILING      | 2     | EA    | \$<br>3,360.00  | \$ | 6,720.00       |
| 536-73    | GUARDRAIL REMOVAL  | 355   | LF    | \$<br>6.00      | \$ | 2,130.00       |
| 536-85-20 | GUARDRAIL END TREATMENT-TRAILING ANCHORAGE   | 2     | EA    | \$<br>3,000.00  | \$ | 6,000.00       |
| 536-85-24 | GUARDRAIL END TREATMENT-PARALLEL APPROACH TERMINAL                                 | 2     | EA    | \$<br>4,200.00  | \$ | 8,400.00       |
| 570-1-2   | PERFORMANCE TURF, SOD  | 700   | SY    | \$<br>10.00     | \$ | 7,000.00       |
| 571-1-12  | PLASTIC EROSION MAT, TRM, TYPE 2   | 82    | SY    | \$<br>25.00     | \$ | 2,050.00       |
| 999-1     | PAVING MEMBRANE  | 51    | SY    | \$<br>103.00    | \$ | 5,253.00       |
| 999-2     | POLYMER NOSING SYSTEM  | 65.7  | CF    | \$<br>640.00    | \$ | 42,048.00      |
| 999-3     | PAINTING OF GRAFFITI   | 3,687 | SF    | \$<br>6.00      | \$ | 22,122.00      |
|           |  | SUB   | TOTAL | \$<br>          |    | 936,605.30     |

101-1 Mobilization/Demobilization: The cost for mobilization/demobilization shall be five percent (5%) of the sub-total project cost.

| SU               | IBTOTAL \$   | 936,605.30           | X 5% =       | \$<br>46,830.27  |  |
|------------------|--------------|----------------------|--------------|------------------|--|
|                  |              | BRIDGE NO. 014073    | ΓΟΤΑL        | \$<br>983,435.57 |  |
| Name of Bidder:_ | Thomas Marir | ne Construction Inc. |              |                  |  |
| _                |              | (This form to        | be returned) |                  |  |

If notified of the acceptance of this bid form, the undersigned agrees to execute a Contract for the stated compensation in the form as prescribed by the County, within the time constraints outlined in Instructions to Bidders.

The signature below is a guarantee that the Bidder will not withdraw his/her bid for a period of 60 days after the scheduled time for opening the bids.

The undersigned agrees, if awarded this bid, to furnish a Performance and Payment Bond in the amount of 100% of the total project price within 14 calendar days after notification of award to the Purchasing Division. The undersigned shall be responsible and bear all costs associated to record Performance and Payment Bond with the Charlotte County Clerk of Court Office. Receipt of said recording shall be furnished to the Purchasing Division.

In accordance with section 287.135, Florida Statutes, the undersigned certifies that the company is not on the Scrutinized Companies with Activities in Sudan List, the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector List and does not have business operations in Cuba or Syria (if applicable) or the Scrutinized Companies that Boycott Israel List or is not participating in a boycott of Israel.

Enclosed is a cashier's check or bid bond in the amount of \$5% of Bid, which is not less than 5% of the total bid price, as guarantee that the undersigned will enter into a Contract for the work/material as required in this Bid Document. **Note: Failure to submit a 5% bid bond will be cause for rejection of bid**.

All contract documents (i.e.; performance and payment bond, cashier's check, bid bond) shall be in the name of "Charlotte County".

The undersigned acknowledges receipt of the following addenda, and the cost, if any, of such revisions has been included in

| represents specific consideration for this indemnification obligation.               |   |                   |  |             |    |  |
|--|---|-------------------|--|-------------|----|--|
| Type of Organization (Please Check One): Individual Ownership Joint Venture          |   |                   |  |             |    |  |
|  |   | Partnership       |  | Corporation | _X |  |
| Name of Bidding Firm   | Thomas Marine Co  | onstruction, Inc. |  |             |    |  |
| Mailing Address  | Mailing Address 8999 High Cotton Lane, Fort Myers, FL 33905 |                   |  |             |    |  |
| Location Address   | 8999 High Cotton Lane                                       |                   |  |             |    |  |
| City & State Fort Myers, FL ZIP 33905  |   |                   |  |             |    |  |
| Telephone: 239-337-0008 E-mail: kcshimp@aol.com                                      |   |                   |  |             |    |  |
| Signature of person authorized to bind the Company:                                  |   |                   |  |             |    |  |
| Print Name/Title of person authorized to bind the Company: Kevin C. Shimp, President |   |                   |  |             |    |  |
|  |   | Date: 3/05/202    |  |             |    |  |

## HUMAN TRAFFICKING AFFIDAVIT for Nongovernmental Entities Pursuant To FS. §787.06

#### Charlotte County Contract #20250228

The undersigned on behalf of the entity listed below, (the "Nongovernmental Entity"), hereby attests under penalty of perjury as follows:

- 1. I am over the age of 18 and I have personal knowledge of the matters set forth except as otherwise set forth herein.
- 2. I am an officer or representative of the Nongovernmental Entity and authorized to provide this affidavit on the Company's behalf.
- 3. Nongovernmental Entity does not use coercion for labor or services as defined in Section 787.06, Florida Statutes.
- 4. This declaration is made pursuant to Section 92.525, Florida Statutes. I understand that making a false statement in this declaration may subject me to criminal penalties.

Under penalties of perjury, I declare that I have read the foregoing Human Trafficking Affidavit and that the facts stated in it are true.

| Further Afflant sayeth naught.  |
|---------------------------------|
|                                 |
| Signature                       |
| Kevin C. Shimp                  |
| Printed Name                    |
| President                       |
| Title                           |
| Thomas Marine Construction, Inc |
| Nongovernmental Entity          |
| 3/05/2025                       |
| Date                            |

# BIDDERS SUBCONTRACTOR LIST MIDWAY BOULEVARD BRIDGE REHABILITATION (014073) BID NO. 20250228

Will you be employing Subcontractors to perform parts of this project? 

✓ YES □ NO

If "Yes", identify each firm below with all requested information. Use additional forms if necessary. The Awarded Contractor shall not change or use subcontractors not identified on this form without prior written approval from Charlotte County. Any request for changes in subcontractors shall be made in writing and approved by the County.

| 260 20th St NE   |  |  |  |
|------------------|--|--|--|
| Naples, FL 34120 |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
| 921 Shotgun Rd   |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |
|                  |  |  |  |

Name of Bidder: Thomas Marine Construction Inc.
(This form to be returned)

| COMPANY NAME:           |         |       |   |
|-------------------------|---------|-------|---|
| COMPANY ADDRESS:        |         |       |   |
|                         |         |       |   |
| CONTACT PERSON:         |         |       |   |
| CONTACT NUMBERS:        | OFFICE: | CELL: |   |
| CONTACT EMAIL:          |         |       |   |
| WORK TO BE<br>PROVIDED: |         | ,     |   |
|                         |         |       | , |
| COMPANY NAME:           |         |       |   |
| COMPANY ADDRESS:        |         |       |   |
|                         |         |       |   |
| CONTACT PERSON:         |         |       |   |
| CONTACT NUMBERS:        | OFFICE: | CELL: |   |
| CONTACT EMAIL:          |         |       |   |
| WORK TO BE<br>PROVIDED: |         |       |   |
|                         |         |       |   |
| COMPANY NAME:           |         |       |   |
| COMPANY ADDRESS:        |         |       |   |
|                         |         |       |   |
| CONTACT PERSON:         |         |       |   |
| CONTACT NUMBERS:        | OFFICE: | CELL: |   |
| CONTACT EMAIL:          |         |       |   |
| WORK TO BE<br>PROVIDED: |         |       |   |
|                         |         |       |   |
|                         |         |       |   |
|                         |         |       |   |
|                         |         |       |   |
|                         |         |       |   |

Name of Bidder: Thomas Marine Construction Inc.

# DRUG FREE WORKPLACE FORM MIDWAY BOULEVARD BRIDGE REHABILITATION (014073) BID NO. 20250228

The undersigned vendor in accordance with Florida Statute 287.087 hereby certifies that Thomas Marine Construction, Inc. (name of business) does:

- 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify the employees that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
- 5. Impose a sanction on or require the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation of this section.

As the person authorized to sign the statement, I certify that this firm complies fully with the above requirements.

#### REFERENCES: MIDWAY BOULEVARD BRIDGE REHABILITATION (014073)

Contractor shall submit a minimum of three (3) recent (within the past five (5) years) references of projects of similar size and scope. Each reference shall include a project description, project location, name and phone number of a contact person, total project amount, and completion date. The County reserves the right to contact references.

| ollier County, FL  |  |  |  |  |  |
|--|--|--|--|--|--|
| _ Telephone #_ 239-348-1328  |  |  |  |  |  |
|  |  |  |  |  |  |
| _ Zip Code: <u>34104</u>   |  |  |  |  |  |
| City & State: <u>Naples, FL</u> Zip Code: <u>34104</u> Project Description: Bridge replacement, drainage, paving, sod, guardrail |  |  |  |  |  |
|  |  |  |  |  |  |
|  |  |  |  |  |  |
| Completion Date: 5/20/2024   |  |  |  |  |  |
| ollier County, FL  |  |  |  |  |  |
| _ Telephone #_239-348-1328   |  |  |  |  |  |
|  |  |  |  |  |  |
| _ Zip Code:34104   |  |  |  |  |  |
| Road, CR 846. Roadway reconstruction, drainage,  |  |  |  |  |  |
|  |  |  |  |  |  |
|  |  |  |  |  |  |
| Completion Date: 2/02/2023   |  |  |  |  |  |
| Issament DeSete County   |  |  |  |  |  |
| lacement, DeSoto County  |  |  |  |  |  |
| _ Telephone #_941-916-8073   |  |  |  |  |  |
| 0.4000   |  |  |  |  |  |
| _ Zip Code: <u>34266</u>   |  |  |  |  |  |
| onstruct roadway.  |  |  |  |  |  |
|  |  |  |  |  |  |
| Completion Date: July 2021   |  |  |  |  |  |
| erts Ave & Maple Dr, DeSoto County   |  |  |  |  |  |
| _ Telephone #_ 941-916-8073  |  |  |  |  |  |
|  |  |  |  |  |  |
| Zip Code: 34266  |  |  |  |  |  |
| econstruction.   |  |  |  |  |  |
|  |  |  |  |  |  |
|  |  |  |  |  |  |
| Completion Date: July 2023   |  |  |  |  |  |
|  |  |  |  |  |  |
|  |  |  |  |  |  |
|  |  |  |  |  |  |

#### **BID BOND**

#### TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA

Hartford, Connecticut 06183

**KNOW ALL MEN BY THESE PRESENTS,** that we Thomas Marine Construction, Inc., 8999 High Cotton Lane, Fort Myers, FL 33905

as Principal, hereinafter called the Principal, and Travelers Casualty and Surety Company of America

a corporation duly organized under the laws of the State of Connecticut as Surety, hereinafter called the Surety, are held and firmly bound unto Charlotte County, 18500 Murdock Circle, Port Charlotte, FL 33948

as Obligee, hereinafter called the Obligee, in the sum of 5% of the attached bid Dollars (\$5%), for the payment of which sum well and truly to be made, the said Principal and the said Surety, bind ourselves, our heirs, executors, administrators, successors and assigns, jointly and severally, firmly by these presents.

WHEREAS, the Principal has submitted a bid for Midway Boulevard Bridge Rehabilitation (014073) BID NO. 20250228

NOW, THEREFORE, if the Obligee shall accept the bid of the Principal and the Principal shall enter into a Contract with the Obligee in accordance with the terms of such bid, and give such bond or bonds as may be specified in the bidding or Contract Documents with good and sufficient surety for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof, or in the event of the failure of the Principal to enter such Contract and give such bond or bonds, if the Principal shall pay to the Obligee the difference not to exceed the penalty hereof between the amount specified in said bid and such larger amount for which the Obligee may in good faith contract with another party to perform the Work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect.

Signed and sealed this 28th day of February, 2025.

Thomas Marine Construction, Inc.

(Principal)

Fesident

(Construction, Inc.

(Principal)

Fesident

(Title)

Travelers Casualty and Surety Company of America (Surety)

(Seal)

Patti Zuk

(Title)



#### Travelers Casualty and Surety Company of America Travelers Casualty and Surety Company St. Paul Fire and Marine Insurance Company

#### **POWER OF ATTORNEY**

KNOW ALL MEN BY THESE PRESENTS: That Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company are corporations duly organized under the laws of the State of Connecticut (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint Patti Zuk of GRAND RAPIDS , Michigan , their true and lawful Attorney(s)-in-Fact to sign, execute, seal and acknowledge any and all bonds, recognizances, conditional undertakings and other writings obligatory in the nature thereof on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

IN WITNESS WHEREOF, the Companies have caused this instrument to be signed, and their corporate seals to be hereto affixed, this 21st day of April, 2021.







State of Connecticut

City of Hartford ss.

On this the 21st day of April, 2021, before me personally appeared Robert L. Raney, who acknowledged himself to be the Senior Vice President of each of the Companies, and that he, as such, being authorized so to do, executed the foregoing instrument for the purposes therein contained by signing on behalf of said Companies by himself as a duly authorized officer.

IN WITNESS WHEREOF, I hereunto set my hand and official seal.

My Commission expires the 30th day of June, 2026



Anna P. Nowik, Notary Public

Robert L. Raney, Senior Vice President

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of each of the Companies, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Senior Vice President, any Vice President, any Senior Vice President, any Vice President, any Senior Vice President, any Vice

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Assistant Vice President, any Assistant Secretary, and the seal of the Company may be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E. Hughes, the undersigned, Assistant Secretary of each of the Companies, do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which remains in full force and effect.

Dated this 28th day of February , 2025







Kevin F. Hughes, Assistant Secretary



## Florida Department of Transportation

RON DESANTIS GOVERNOR 605 Suwannee Street Tallahassee, FL 32399-0450 JARED W. PERDUE, P.E. SECRETARY

April 22,2024

THOMAS MARINE CONSTRUCTION, INC. 8999 HIGH COTTON LANE FT. MYERS, FLORIDA 33905

RE: CERTIFICATE OF QUALIFICATION

The Department of Transportation has qualified your company for the type of work indicated below.

#### FDOT APPROVED WORK CLASSES:

BASCULE BRIDGE REHABILITATION, BRIDGE PAINTING, DRAINAGE, GRADING, INTERMEDIATE BRIDGES, MINOR BRIDGES, R&R INTERMEDIATE BRIDGES ("R&R" IS REPAIR AND REHABILITATE), R&R MAJOR BRIDGE - BRIDGES OF CONVENTIONAL CONSTRUCTION WHICH ARE OVER A WATER OPENING OF 1,000 FEET OR MORE, R&R MINOR BRIDGES, SIDEWALK, STEEL SHEET PILING, COFFER DAMS.

Unless notified otherwise, this Certificate of Qualification will expire 6/30/2025.

In accordance with Section 337.14(4), Florida Statutes, changes to Ability Factor or Maximum Capacity Rating will not take effect until after the expiration of the current certificate of prequalification (if applicable).

In accordance with Section 337.14(1), Florida Statutes, an application for qualification  $\underline{\text{must be}}$  filed within (4) months of the ending date of the applicant's audited annual financial statements.

If the company's maximum capacity has been revised, it may be accessed by logging into the Contractor Prequalification Application System via the following link:

#### HTTPS://fdotwp1.dot.state.fl.us/ContractorPreQualification

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

The company may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing the most recently approved application as shown above and choosing "Update" instead of "View." If certification in additional classes of work is desired, documentation is needed to show that the company has performed such work.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

James E. Taylor II, Prequalification Supervisor

Contracts Administration Office

James C. Taylor AN

JTII

# State of Florida Department of State

I certify from the records of this office that THOMAS MARINE CONSTRUCTION, INC. is a corporation organized under the laws of the State of Florida, filed on February 25, 1982.

The document number of this corporation is F68794.

I further certify that said corporation has paid all fees due this office through December 31, 2025, that its most recent annual report/uniform business report was filed on January 7, 2025, and that its status is active.

I further certify that said corporation has not filed Articles of Dissolution.

Given under my hand and the Great Seal of the State of Florida at Tallahassee, the Capital, this the Seventh day of January, 2025



Secretary of State

Tracking Number: 1924383549CC

To authenticate this certificate, visit the following site, enter this number, and then follow the instructions displayed.

https://services.sunbiz.org/Filings/CertificateOfStatus/CertificateAuthentication

Ron DeSantis, Governor

Melanie S. Griffin, Secretary

# STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION BOARD OF PROFESSIONAL ENGINEERS

THE PROFESSIONAL ENGINEER HEREIN IS LICENSED UNDER THE PROVISIONS OF CHAPTER 471, FLORIDA STATUTES

SHIMP, KEVIN CARL

14841 CALEB DRIVE FORT MYERS FL 33908

**LICENSE NUMBER: PE57594** 

**EXPIRATION DATE: FEBRUARY 28, 2027** 

Always verify licenses online at MyFloridaLicense.com

Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.



# STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

## CONSTRUCTION INDUSTRY LICENSING BOARD

THE GENERAL CONTRACTOR HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

## SHIMP, KEVIN CARL

THOMAS MARINE CONSTRUCTION INC 14841 CALEB DRIVE FORT MYERS FL 33908

## LICENSE NUMBER: CGC1515445

**EXPIRATION DATE: AUGUST 31, 2026** 

Always verify licenses online at MyFloridaLicense.com

ISSUED: 08/23/2024

Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.

